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1.

SRP (Single Responsibility Principle) — one class should do one thing and do it
well

Open Closed design principle — open for extension, closed for modification

LSP (Liskov Substitution Principle) — Sub type must be substitutable for super
type

ISP (Interface Segregation Principle) — Avoid monolithic interface, reduce pain on
client side

DIP (Dependency Inversion Principle) — don'’t ask, let framework give to you



Continue...

6. DRY (Don’t repeat yourself) - avoids duplication in code

7. Encapsulate what changes — hides implementation detail, helps in maintenance
8. Favor Composition over Inheritance — Code reuse without cost of inflexibility
9. Programming for Interface — Helps in maintenance, improves flexibility

10. Delegation principle — Don’t do all things by yourself, delegate it



Single Responsibility Principle (SRP)
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“Gather together the things that change for the same reasons. Separate those
things that change for different reasons.”



public class Employee {
public Money calculatePay();
public void save();
public String reportHours();

}
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class Book {
public void getTitle() {

return "A Great Book";
}

public String getAuthor() {
return "John Doe";
}

public void turnPage() {
/I pointer to next page
}

public void printCurrentPage() {
System.Print(“current page content");
}

}



class Book {
public String getTitle() {

return "A Great Book";
}

public String getAuthor() {
return "John Doe";
}

public void turnPage() {
/I pointer to next page
}

public String getCurrentPage() {
return "current page content";
Y

}

interface Printer {

public void printPage(string page);
¥

class PlainTextPrinter implements Printer {

public void printPage(string page) {
System.Print(page);
}

}

class HtmlPrinter implements Printer {

public void printPage(string page) {
System.Print(“'<div style="single-page’>
+ page + “</div>");

}

”



2. Open-Closed Principle (OCP)
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“A class should be closed for modification and open for extension.”



2. Open-Closed Principle (OCP)

+ number: string

+ expiredate: date

+ cw: string

+validate(): boolean
A/ \A

Extends Extends

- number_format: string +number_regex: string

+ dosomthing(): void + method(): Type




3. Liskov Substitution Principle (LSP)
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3. Liskov Substitution Principle (LSP)

LISKOV SUBSTITUTION PRINCIPLE

If It Looks Like A Duck, Quacks Like A Duck, But Needs Batteries - You
Probably Have The Wrong Abstraction



3. Liskov Substitution Principle (LSP)
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4. Interface Segregation Principle (ISP)
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“No client should be forced to depend on methods it does not use”



4. Interface Segregation Principle (ISP)

Big Fat Interface Smaller Interfaces

g System; . . interface IPrintScanContent
using System.Collections.Generilc; {
using System.Ling; : :
st S’ te = nz’ bool PrintContent(string content);
using System.Text; p
. o nConten rin ntent);
using System.Threading.Tasks; bool ScanContent(st g content);

bool PhotoCopyContent(string content);

namespace ISPDemoConsole

{

interface IFaxContent

{
}

public interface IPrintTasks

{

bool PrintContent(string content);

bool ScanContent(string content);

bool FaxContent(string content);

bool PhotoCopyContent(string content);
bool PrintDuplexContent(string content);

bool FaxContent(string content);

interface IPrintDuplex

{
}

bool PrintDuplexContent(string content);



4. Interface Segregation Principle (ISP)

+ Execute

Deposit Withdrawal Transfer
Transaction Transaction Transaction

Deposit Ul Withdrawal Ul Transfer Ul
+ informInsufficientFunds

«interface»
ATM UI

+ requestDepositAmount ()

+ requestWithdrawalAmount ()
+ requestTransferAmount ()
+ informInsufficientFunds




. Dependency Inversion Principle (DIP)
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“High-level modules should not depend on low-level modules. Both should depend on

abstractions”

“Abstractions should not depend on details. Details should depend on abstractions.”



. Dependency Inversion Principle (DIP)
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1. Encapsulate what changes

if (pet.type() == dog) {
pet.bark();

} else if (pet.type() == cat) {
pet.meow();

} else if (pet.type() == duck) {
pet.quack()

¥

| may reasonably expect that this piece of code will change in the future. | can "encapsulate” it simply
by defining a new procedure:

void speak(pet) {
if (pet.type() == dog) {
pet.bark();
} else if (pet.type() == cat) {
pet.meow();
} else if (pet.type() == duck) {
pet.quack()
¥
¥




